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(11) 2’ + oz =e*, 2(0) =1
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z(t)& L, o =dz/dt £F 5.

it x(t) = —let + §egt

(1) ' =32 =0, 2(0) =2 22

/ _ : —
B () = 207 (13) '+ 3x = 2sin3t, x(0) =1
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(2) 2/ — 22 =e*, 2(0) = i x(t) = gef‘“ + gsin 3t — 5 cos 3t
filg x(t) = (t + 3)e* (14) 2/ —z =e*, 2(0) = -2
(3) ' —x =2sint, 2(0) =1 ff x(t) = e* — 3¢
i x(t) = 2e' —sint — cost (15) 2’ 4 2z =6t — 1, 2(0) = 3
(4) o' — 22 =0, 2(0) = 3 B () = 5e 2 + 31 — 2
fif w(t) = 3e* (16) 2’ — 2z =0, z(0) = 3
(5) ' +x=e" 2(0)=1 () = 36
f# z(t) = (L+t)e! (17) 2’ + 3z = 4e’, 2(0) = 1
(6) 2/ +3x =2e"" 2(0) =1 i x(t) = o
fi# x(t) =e (18) 2’ — x = 2cost, z(0) =3
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(1) o'+ 2w =e™, 2(0) = 3 fi# x(t) = 4e' — cost +sint
fifg x(t) =de 2 —e 3

(19) 2’ +2x=U(t—2), z(0)=1

(8) 2’ —2x =5cost, z(0) =2 R x(t)=e'+(1—e Ut -2)

i x(t) = 4e* +sint — 2cost o
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2 RO2BWMD AR ZEIT. R w(t) = te” + %
(1) 2"+ 2’ — 2z = 12t, z(0) = 0, 2/(0) = 6 (14) 2" +4a = 8¢*, 2(0) = 0, 2/(0) = 0
fi# z(t) = —3 — 6t + 6e' — 3¢ % f# x(t) = — cos 2t — sin 2t + e*

(2) 2" —4x = cost, x(0) =0, 2/(0) =0 (15) 2" =2z =2, 2(0) = 0, 2/(0) = 3
1 1 1 fox(t) = —2 —t+ 2™

z(t) = ——cost + —e 2 4 —e*

5 10 10 (16) 2" — 42’ + 4z =0, z(0) = 1, 2/(0) = 1

(3) " +2' =2z =3¢, 2(0) = 1, 2/(0) = —1 fift x(t) =c*(1—1)
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7] =2t t
M a(t) = +te (17) 2" + 62" + 10z = 0, z(0) = 1, 2/(0) = 1
(4) 2" =3r=1,2(0)=1,2'(0) = 1 f# x(t) = e *(cost + 4sint)
oot = L ATV V3 (18) 2 + x = 2sint, (0) = 2, 2/(0) = 4
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f# x(t) = 5sint + (2 —t)cost
(5) 2" +22' + 52 =0, 2(0) =1, 2/(0) =0 x(t) = 5sint + ( ) cos

1 (19) 2"+ 22" +x =+, 2(0) =0, 2/(0) =0
i x(t) = —e ' (2cos2t + sin 2t
B =gt ) R oa(t)=(t+2)e "+t -2
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1 ‘
iRt x(t) = — (be ™ + 11e' + 4te) B (t) = 2% — ot
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+- (1 =23 42N Ut -3
(7) " + 42’ + 4z =sin2t, 2(0) = 0, 2/(0) =1 2 ( ) Ul )

(21) 2" +42' — 52 =0, 2(0) =0, 2/(0) =1

B a(t) = ¢ (¢~ )

1
g x(t) = i (7 + 10te™* — cos 2t)

(8) 2" + 2’ —2x = —12¢', 2(0) =1, 2/(0) = 0
(22) 2" — 62"+ 92 =0, z(0) = 1, 2/(0) = 2

fi x(t) = (1 —t)e”
(23) 2" — 42’ + 132 =0, z(0) = 2, 2/(0) =1
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z(t) = —e ' 4 2¢" — 4te’

fi# x(t) = e* (sin 3t + 2 cos 3t)

10) 2" + 22’ = 5cost, 2(0) = 0, 2/(0) = 2
(10) 2” + 22’ = 5cost, z(0) = 0, 2'(0) (24) 2" + 32’ — 4o = 6e*, z(0) = 6, 2/(0) = 2

- . )
fift x(t) =1 — cost+ 2sint i (1) — ot el o2

" / _ — / J—
(11) &" — o'~ 62 =0,2(0) = 1,2'(0) = 1 (25) 2" + 22 + 22 = 10sin 21,

. 2 . = 1.7 —
B a(t) = ¥ 4 2o #(0) = —1, 2/(0) = -3
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(12) 2" — 32 + 2z =¢', 2(0) =0, 2/(0) =0

fi# x(t) = e "cost — 2cos2t — sin 2t
(26) 2" — 22"+ 2 = te!, 2(0) = 0, 2/(0) = 0
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i x(t) = ?

g x(t) = —te' — e +e*

(13) 2" — 42’ + 4o = 2¢*, 2(0) = 0, 2/(0) = 1



